Gamleby BK
Novemberbarometer 2021-11-18

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 3 267  61.81 Gunnar Schéfer - Gun-Britt Rindstal 20696 7974 Overums BK - Valdemarsviks BK
2 8 254 58.80 Kent Lundstrém - Mattias Forss 85082 87222 Overums BK
3 76 246  56.94 Tomas Gustavsson - Johan Ohlsson 60226 20691 Gamleby BK
4 79 244  56.48 Bo Ingelsson - Jan-Erik Sandberg 64777 91445 Gamleby BK
5 71 240 55.56 Ulla Kvarnsjo - Helene Sjostrand 14675 49982 Gamleby BK
6 10 234  54.17 Bert Hagman - Bo Faldt 44374 42704 Gamleby BK
7 9 228 52.78 Jacob Westerberg - Christoffer Jarnestrom 88822 1977 Overums BK
8 6 224  51.85 Krister Retzman - Kenneth Cederlof 89581 17786 Overums BK - Helgenas BK
9 2 219 50.69 Tomas Deltin - Stefan Léwenborg 16058 16057 Gamleby BK
9 73 219  50.69 Britt Jarnestrom - Elisabeth Eriksson 29985 1407 Vasterviks BK
11 80 218 50.46 Ake Sjostrand - Torvald Turesson 86936 93758 Gamleby BK
12 7 216 50.00 Agneta Fagerstréom - Anders Svensson 83395 17617 Gamleby BK
12 72 216  50.00 Anders Hansson - Sture Mattsson 47032 1503 Overums BK - Ljungsbro BK
14 75 209  48.38 Solve Danielsson - Anne-Marie Danielsson 87556 87559 Helgenas BK
15 1 206 47.69 Astor Holgersson - Lillemor Cederl6f 44450 57498 Helgenas BK - Ankarsrums Bridgeklubb
16 77 204  47.22 Carina Nilsson - Karin Forsberg Carlsson 9900 58816 Overums BK - Gamleby BK
17 78 189  43.75 Hans-Erik Hansson - Mai Wettermark Hansson 1096 44019 Gamleby BK
18 4 180 41.67 Kenneth Carlsson - Willy Hagstrom 13421 52886 Overums BK
19 74 167 38.66 Maritha Wilén - Mari-Anne Wahlin 58111 20690 Gamleby BK
20 5 140 3241 Kjell Friborg - Gunnar Bertilsson 25838 30999 Gamleby BK
1 4~ E873 Basta kontrakt 2 49854 Basta kontrakt 3 4~ E10863 Basta kontrakt
Nord vE10876 34 O =-140 Ost v3 6y O =-980 Syd vE4 34V =-110
Ingen +53 NS ¢ 8752 ov + KD62
#85 & ¢ v & NT #K1073 & ¢ v & NT »86 & ¢ v & NT
4 D106 & KKn94 N15843 462 4 EKn10 N28182 a2 4 KD94 N46576
v Kn2 v43 S 15843 vEKn75 vD10842 S28172 vD7 v K9652 S46576
¢ Kn9 ¢ EKD7 O 107 5 9 7 +D643 ¢ - O 115 125 11 ¢ Kn10973 +¢8 097867
#ED9732 #Knl104 vV 107 5 9 7 +D62 #EKn954 V 105 125 11 #EDKn92 #1074 V97867
452 4 KD73 4 Kn75
v KD95 v K96 vKn1083
4108642 + EKKn109 ¢+ E54
*K6 *8 #K53
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
77 4 3NO-3 v9 150 180 00| 3 78 44DS= ¥5 790 180 00| 1 5 4v0-2 ¢A 200 18.0 0.0
80 1 3NV-2 v6 100 16.0 20| 2 79 44 S-2 46 -200 150 3.0| 4 78 34 N= +8 140 16.0 2.0
3 78 5#0-1 vK 50 130 50|71 10 34 S-2 vA -200 150 3.0{74 9 3sV-1 +6 100 14.0 4.0
71 10 24 O-1 vK 50 13.0 50| 5 76 2v O+4 &8 -230 120 6.0 3 79 24 N-1 +8 -50 11.0 7.0
5 76 INV= v6 90 100 80|80 1 4¢S-3 vA -300 100 8.0[10 73 24 N-1 +8 -50 11.0 7.0
2 79 3&aV+l YA -130 6.0 120|75 6 4vO= ¢ A -420 8.0 100(76 7 24 N-2 +8 -100 8.0 10.0
74 7 3#V+1l 45 -130 6.0 12.0| 9 72 4v O+1 +A -450 40 140| 6 77 44 N-3 +8 -150 50 13.0
75 6 3#V+l ¢6 -130 6.0 12.0|74 7 4v O+1 ¢J -450 40 14072 71 34 N-3 +8 -150 5.0 13.0
9 72 44V+1l YA -150 20 16.0|77 4 4v O+1 +A -450 40 140(80 2 34DN-2 &T -300 20 16.0
73 8 3NO+1 +4 -430 0.0 180(73 8 44DS-2 vA -500 0.0 180(|75 8 44DN-3 &4 -500 0.0 18.0
4 & EK75 Bésta kontrakt 5 4 D10 Bésta kontrakt 6 o- Bésta kontrakt
Vast v EKD10 3v N =140 Nord v K652 2NT N =120 Ost v DKn532 54 S D -3-500
Alla + 987 NS ¢+ E104 ov 4 965
#93 & ¢ v & NT *EK64 & ¢ v & NT #E9654 & ¢ v & NT
4 DKn10986 4432 N9 996 8 4 K94  EKn82 N6 96 68 4D106 4EKKn9872 N 8 6 8 2 3
v764 vKn83 S 9996 8 v D87 v Kn943 S6 96 6 8 v976 vE4 S 86823
462 ¢ EK43 04 4375 +92 ¢ KKn8 06 4665 ¢E84 ¢ D107 O5 6 4 109
«KD «Kn74 V44375 #DKn1093 #75 V6 46¢675 D872 &K V56 4 109
a- #7653 & 543
v 952 vE10 v K108
+ DKn105 + D7653 ¢ KKn32
#E108652 *82 #Kn103
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
10 73 34DV-2 vA 500 18.0 0.0|71 74 INN+2 48 150 180 00| 7 1 3NV= v5 -600 18.0 0.0
80 2 34V-2 vA 200 16.0 20| 2 6 INN+1 ¢3 120 13.0 50| 2 6 44 0= 3 -620 150 3.0
4 78 2NN+1 K 150 140 40|73 72 INN+1 94 120 13.0 50| 4 79 44 O= 2 -620 150 3.0
1 5 3vN= ¢A 140 120 60|76 9 INN+1 94 120 13.0 50|71 74 44 O+1 & -650 9.0 9.0
6 77 3#S= 48 110 90 90|77 8 INN+1 v4 120 13.0 50|73 72 44 O+1 &5 -650 9.0 9.0
74 9 34S= - 110 90 90| 4 79 2v0-2 8 100 8.0 100|76 9 44 O+1 &5 -650 9.0 9.0
3 79 4v N-1 +K -100 6.0 12.0| 5 78 INN= +8 90 50 13.0(80 3 44 O+1 ¢2 -650 9.0 9.0
75 8 24 N-2 +K -200 30 150 7 1 INN= a2 90 50 13.0|75 10 44 O+2 ¢8 -680 3.0 15.0
76 7 54 N-2 ¢ A -200 3.0 15075 10 1& N= +8 70 20 16.0|77 8 44 0O0+2 3 -680 3.0 15.0
72 71 3NN-3 a4 -300 0.0 180|80 3 INN-2 v3 -200 0.0 180| 5 78 64 O= ¢2  -1430 0.0 18.0
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7 4 Knl104 Basta kontrakt 8 a- Basta kontrakt 9 46 Basta kontrakt
Syd vD10 3¢ S =110 Vast v D642 74 V D-51100 Nord vKD1074 3« N =110
Alla 496543 Ingen + 876 ov + Kn103
#E63 & ¢ v & NT #EKDKN95 & ¢ v & NT #KDKn10 & ¢ v & NT
46 « D972 N4 86 86 41098743 4« EDKnN5 N 128 135 12 410954 #Kn872 N9 6 757
vKn742 v K86 S 496 86 v7 vKn83 S 128 135 12 v 865 v EKn92 S96 657
¢ EKn10 ¢ D7 0947565 410942 ¢ KDKn 015081 + D7 ¢ EK954 0365765
#KKn1052 #D974 V93645 *42 #1083 V15081 #9864 &- V36575
& EK853 & K62 & EKD3
v E953 v EK1095 v3
+ K82 ¢ E53 + 862
»8 *76 #E7532
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
6 78 34 S= T 140 170 10| 3 7 4v N+3 ¢K 510 16.0 20| 6 79 3NN= ¢K 400 170 1.0
77 10 34 S= ¢T 140 170 10| 8 2 4vS+3 T 510 160 20(80 5 3NN= ¢A 400 170 1.0
8 2 24 S= v4 110 140 40|76 71 5vS+2 «T 510 160 20| 1 71 3« N= ¢K 110 13.0 5.0
3 7 34S-1 LN -100 80 10.0| 5 79 4v S+2 T 480 11.0 7.0(75 74 3« N= ¢A 110 13.0 5.0
579 24 S-1 &5 -100 8.0 10.0(74 73 4v S+2 T 480 11.0 7.0(77 72 4 N-1 ¢ A -50 10.0 8.0
72 75 44 S-1 ¢ A -100 8.0 100| 6 78 4v S+1 &T 450 8.0 100 2 10 5# N-2 ¢ A -100 4.0 14.0
76 71 34 S-1 &5 -100 8.0 10.0(72 75 44DO-2 vA 300 40 140 4 8 54S-2 ¢+ Q -100 4.0 14.0
80 4 34S-1 v7 -100 8.0 10.0(77 10 44DV-2 #A 300 40 140 7 78 54DS-1 +Q -100 40 140
1 9 24S-3 &T -300 10 17.0|80 4 54DV-2 &#A 300 40 140 9 3 5#S-2 +Q -100 4.0 14.0
74 73 44 S-3 &5 -300 1.0 170 1 9 34 V-1 &A 50 0.0 18.0(73 76 5& N-2 ¢ A -100 4.0 140
10 4 D105 Bésta kontrakt 11 & K92 Bésta kontrakt 12 104 Bésta kontrakt
Ost vE85 24 O =-110 Syd v D98 3NTVD-1100 |Vast v EKn 34 V =-140
Alla 498743 Ingen + KDKn87 NS + 10965
*97 & ¢ v & NT *K2 & ¢ v & NT #D9432 & ¢ v & NT
4 E98642 473 N57 856 4 D7 4Knl0643 N 4 7 9 6 5 #8763 « EDKn92 N7 76 46
vD v K963 S57856 vE6 v 107 S47 965 v 108765 ¥93 S 886 46
+ ED5 ¢ KKn10 O7 6586 + E96 ¢ 10542 086 478 .- ¢ EK873 0557 96
«DKn4  #10853 V76586 #Knl107543 &ED V864738 #KKn106 #8 V55796
& KKn & E85 & K5
vKn10742 v KKn5432 v KD42
¢ 62 +3 + DKn42
#EK62 #986 #E75
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 78 2v S+1 48 140 170 10| 8 78 4v N= &A 420 180 00|10 4 44 O-2 v2 100 18.0 0.0
80 5 3vS= A 140 170 10(10 4 5#V-3 ¢+K 150 160 20| 2 72 3NO-1 2 50 16.0 2.0
75 74 INN+1 &7 120 140 4.0(74 77 2v S+1 4 140 140 40| 1 73 24 O+1 &A -140 130 5.0
2 10 264 V-1 vA 100 120 60| 1 73 3&V-1 49 50 120 6.0|74 77 24 O+1 ¢4 -140 130 5.0
171 3vS-1 s A -100 100 8.0| 2 72 4v S-1 LN -50 8.0 100 3 71 24 O+2 K -170 9.0 9.0
6 79 24 V= vA -110 50 13.0| 3 71 2¢S-1 *J -50 8.0 100| 7 79 24 O+2 ¢K -170 9.0 9.0
9 3 264V= *9 -110 50 130 5 9 3vS-1 LN -50 8.0 10.0| 8 78 34 O+2 &5 -200 6.0 12.0
73 76 24 V= vA -110 50 13.0(80 6 3v S-2 LN -100 40 140 5 9 44 0= v2 -420 3.0 15.0
77 72 24 V= vA -110 50 13.0(76 75 INO+1 #2 -120 20 16.0|76 75 44 O= A -420 3.0 15.0
4 8 3vDS-1 #A -200 0.0 180 7 79 4vS-3 LN -150 00 180(80 6 3¢DN-2 &8 -500 0.0 18.0
13 4763 Basta kontrakt 14 4 ED54 Basta kontrakt 15 aKn Basta kontrakt
Nord v 104 5NT O =-660 Ost v92 24 SD-1-100 Syd v KD86 5¢ V D -3500
Alla + D1032 Ingen + KKn97 NS *+K
#KKn73 & ¢ v & NT *732 & ¢ v & NT #EKn98642 & ¢ v & NT
« K4 #EKNn10952 N 5 5 2 2 2 » K103 + 96 N57 5765 475432 & D86 N 9 5 106 6
vD9832 vEK S55222 vEKn843 v 10765 S57575 v E42 v93 S 9 5 106 6
+Kn75 ¢ K64 07 8 9 1011 42 + D106 086867 ¢+ D1093 ¢ E8542 O3 8366
#ED5S +102 vV 8 8 9 1111 #D95 #EKKN6 V86 86 7 &7 #KD3 V 38366
«D8 4 Kn872  EK109
v Kn765 vKD v Kn1075
+ E98 + E853 + Kn76
#9864 #1084 #105
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr ut Res Poéang
71 5 64 O-2 *9 200 180 00| 9 78 3vyDO-1 v¥6 100 180 0.0(80 8 44DN= 46 710 18.0 0.0
2 74 44 O-1 *9 100 13.0 50| 6 10 4v V-1 s A 50 16.0 20| 3 75 4v N+1 48 650 16.0 2.0
3 73 44 O-1 *9 100 13.0 50| 2 74 Pass 11.0 70| 4 74 4vy N= +«K 620 13.0 5.0
75 1 3NO-1 vT 100 13.0 50| 3 73 Pass 11.0 70(72 6 4vy N= *4 620 13.0 5.0
77 76 44 O-1 *9 100 13.0 50|71 5 Pass 11.0 70| 7 71 3v S+2 &7 200 10.0 8.0
9 78 34 O+2 &9 -200 8.0 10.0(75 1 Pass 11.0 7.0|10 78 3v S+1 ¢Q 170 8.0 10.0
4 72 3NV +1 &3 -630 50 13.0|/80 7 34 N-1 A -50 6.0 120|76 2 34 V-3 vK 150 6.0 12.0
6 10 3NV +1 #3 -630 50 13.0| 4 72 2v O= 48 -110 40 140 9 79 3v N= ¢A 140 40 140
80 7 44 O+1 A -650 20 16.0| 8 79 3v V= v2 -140 1.0 17.0| 1 77 3vy N-1 ¢A -100 1.0 17.0
8 79 44 O+2 &6 -680 0.0 18077 76 2vy V+1 &7 -140 1.0 170| 5 73 3NS-1 a3 -100 1.0 17.0
16 4 D62 Bésta kontrakt 17 « KD97 Bésta kontrakt 18 4 D9654 Bésta kontrakt
Vast vKn8 44 S D -2-300 Nord v EK93 44 N =130 Ost v10 5# O D -3 500
ov + EKn107 Ingen + D74 NS + EKn1086
#D1094 & ¢ v & NT #105 & ¢ v & NT KD & ¢ v & NT
» 105 » Kn98 N6 8373 443 «E108652 N 105 8 6 8 a7 # 10832 N5 9 8 108
vED1097642 v5 S 68383 vKn864 D10 S 105 8 6 8 vK976  vKn4 S 59 8 108
+5 ¢ K832 07 5 105 7 ¢ EKn62 ¢ 10853 03847 4 ¢+ KD753 +4 084522
K8 #E7632 vV 7 5 105 7 *874 *E V38474 *E96 #1087532 VvV 8 4 5 2 2
& EK743 & Kn » EKKn
vK3 v 752 v ED8532
+ D964 + K9 492
#Kn5 #KDKn9632 #Kn4
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
72 6 44 S-1 ¢+5 50 17.0 10|73 7 3NN+1 46 430 16.0 20| 6 74 3NN+1 &T 630 18.0 0.0
76 2 44 S-1 +5 50 17.0 10|77 3 3NN+1 46 430 16.0 20| 8 72 44 N= *4 620 140 4.0
1 77 44 S-2 ¢+5 -100 130 50|80 9 3NN+1 +¢5 430 16.0 20|73 7 44 N= +4 620 140 4.0
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3 75 34 S-2 vA -100 130 5.0[10 79 5# N-= A 400 120 6.0(77 3 44 N= ¢4 620 140 4.0
4 74 34 S-3 vA -150 10.0 8.0| 6 74 3« N+2 &A 150 100 80(80 9 3NN= 2 600 10.0 8.0
10 78 29y V+2  ¢7 -170 8.0 10.0| 8 72 5#S-1 a4 -50 8.0 10.0|71 78 34 N= ¢4 140 8.0 10.0
9 79 4v V= *9 -620 50 13.0( 5 75 4y N-2 A -100 50 130 2 1 4vS-1 A -100 4.0 14.0
80 8 4v V= a2 -620 50 13.0(71 78 5#S-2 a4 -100 50 13.0| 4 76 3v S-1 a7 -100 40 140
5 73 4y V+1 A -650 10 170| 2 1 6#S-3 ¢A -150 20 16.0| 5 75 44 N-1 vJ -100 4.0 14.0
7 71 4v V+1 A -650 1.0 170| 4 76 64DN-2 aA -300 0.0 18.0(10 79 3NN-3 *2 -300 0.0 18.0
19 4 K876 Bésta kontrakt 20 7642 Bésta kontrakt 21 4 K754 Bésta kontrakt
Syd v 1083 34 S =140 Vast v93 4v V =-620 Nord v Kn9 INTN =90
oV + 10 Alla + ED7 NS + D762
#EK865 & ¢ v & NT #D1095 & ¢ v & NT #KKn7 & ¢ v & NT
41092 &« Kn5 N8 6 79 8 «4ED10 4Kn95 N37 343 D109 & EKn62 N76767
vEKn52 D97 S86 7 98 vKKn52 vED76 S37343 vD8764 ¢3 S75756
¢ Kn7542 ¢ E863 O576 45 ¢ 94 +53 O 106 108 7 ¢43 ¢KKn1098 O 6 7 6 7 6
3 #DKn107 V57645 K642  #EKN73 V 106 108 7 *E64 #532 V67¢67F¢6
« ED43 & K83 483
v K64 v 1084 v EK1052
+ KD9 + KKn10862 ¢+ E5
#942 »8 #D1098
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 4 44 S-= 3 420 160 20| 7 75 3NO-2 +6 200 180 0.0| 7 77 2NN+1  +J 150 18.0 0.0
74 8 44 N= &T 420 160 20| 1 4 4v V= &T -620 8.0 10.0|73 78 INS+1 v8 120 16.0 2.0
80 10 44 N= *Q 420 160 20| 3 2 4v 0= 8 -620 80 100 4 3 2vS= +4 110 140 4.0
71 79 24 N+1 #Q 140 120 60| 5 77 4v O= »8 -620 8.0 10.0|80 71 INN= *J 90 12.0 6.0
6 76 INS= oT 90 100 80| 6 76 4v O= »8 -620 8.0 10.0(10 74 14 N= v3 80 10.0 8.0
3 2 44 S-1 LX) -50 40 140(| 9 73 4v 0= *9 -620 80 100 6 1 2NN- +8 -100 7.0 11.0
5 77 3NS-1 v5 -50 40 14071 79 4v O= »8 -620 8.0 10.0(72 79 34 N-1 v3 -100 7.0 11.0
7 75 24 N-1 *0Q -50 40 140(72 78 4v O= »8 -620 80 100| 2 5 2vS-2 +3 -200 2.0 16.0
9 73 44 S-1 *3 -50 40 140(74 8 4v 0= +6 -620 8.0 100(| 8 76 3NN-2 +8 -200 2.0 16.0
72 78 44 S-1 ¢4 -50 4.0 140|180 10 4v O= »8 -620 8.0 100|75 9 2NN-2 +8 -200 20 16.0
22 4 KD4 Basta kontrakt 23 4 E92 Basta kontrakt 24 48 Basta kontrakt
Ost v D854 34 S =140 Syd vK72 4v V =-620 Vast v E852 54 V =-450
ov ¢ E2 Alla + 964 Ingen 462
#EDKn7 & ¢ v & NT #D9o84 & ¢ v & NT #EDKnN865 & ¢ v & NT
10 « E732 N47 596 « KDKn4 41065 N47 347 « KDKn9763 & E N8 1522
v EK1062 ¢73 S47596 v 643 vEDKn108 S 3 7 2 4 7 v4 v KKn963 S81522
410964 # K3 075746 +Kn83 7 09 6 109 6 ¢ KKn85 ¢ ED43 O4 117 116
#852 #K10963 V75747 #Kn63  #EK107 vV 9 6 109 6 &K #1094 V 4 117 116
4 Kn9865 4873 410542
v Kn9 v 95 v D107
+ DKn875 + EKD1052 + 1097
*4 *52 *732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
6 1 B3NN+1 &3 430 180 00| 9 77 3¢DS= ¥3 670 180 00| 3 6 4¢ O+1 &2 -150 170 1.0
10 74 2NN+1 &3 150 160 20| 3 6 4v0-1 ¢A 100 16.0 20| 9 77 3¢ O+2 &7 -150 170 1.0
73 78 34 N= 3 140 140 40| 8 1 2v0+1 ¢K -140 120 6.0|76 10 34 V+1 46 -170 140 4.0
72 79 24 S= vA 110 120 6.0(73 79 2v O+1 +K -140 120 6.0 5 4 3aV+2 #A -200 110 7.0
7 77 3NN-1 *6 -50 10.0 8.0(80 72 2¢O+l +Q -140 120 6.0 8 1 34 V+2 #A -200 110 7.0
2 5 44 S-2 vA -100 6.0 120| 5 4 3v O+l +A -170 6.0 120| 7 2 44 V+l 46 -450 4.0 14.0
8 76 44 S-2 vA -100 6.0 12.0|74 78 3v O+1 +A -170 6.0 12.0|71 75 44 V+1  #A -450 40 140
80 71 34 S-2 &5 -100 6.0 12.0|76 10 2v O+2 +A -170 6.0 12.0|73 79 44 V+1 ¢6 -450 4.0 14.0
4 3 44 S-3 vA -150 20 16.0| 7 2 3vO+2 +A -200 10 17.0|74 78 44 V+1  #A -450 4.0 14.0
75 9 3vN-4 s A -200 0.0 18071 75 2v O+3 ¢K -200 1.0 17.0|80 72 44 V+1  #A -450 40 140
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